WWW. cbseboardonl%;%com

5%

[Series JBB/4 ] [SET-1]

[=]; [=];

Eﬁ% hﬁ Code No. 32/4/1

e 3. wlienefl ®I8 H IH-YfEaH F q@-y8
Candidates must write the Code on the
title page of the answer-book.

qre NOTE

(D o A= o 6 39 T99-99 | giga
U8 17 + 1 THRE § |

(I) Please check that this question
paper contains 17 printed pages

+ 1 Map.

(ID 99993 # <rfgd 819 <l 311 feu 7u =g

Tl B ITL-YReh % @98 W
foad |

(I Code number given on the right
hand side of the question paper
should be written on the title page of

the answer-book by the candidate.

1D puyan wfg A 6 38 T4 §
35T & |

(III) Please check that this
paper contains 35 questions.

question

(IV) o 5o o1 I foremr g8 e |
UEdl, ITGREGdl H W BT HATS
e ford |

(IV) Please write down the Serial Number
of the question in the answer-book
before attempting it.

(V) 38 Y9-99 i 98+ & foiu 15 fime =
gy fem ™ 8 | gwEud & faam
gals # 1015 &9 fopan wmom |
10.15 S5 ¥ 10.30 S G B hadl
JH-9 i UG 3T 3H 3G o S
I T W IS IR & foram |

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 am. From 10.15 am. to
10.30 a.m., the students will
read the question paper only and
will not write any answer on the
answer-book during this period.

(V)

AmTfore fasm=

SOCIAL SCIENCE
FReaffa ga : 3 o2 S7ferBaT 37 - 80
Time allowed : 3 hours Maximum Marks : 80
F32/4/1} 1 P.T.O.




WWW. cbseboardonl%;%com

5%

QT 3397 :

FwTleTRga 13T %1 g GIaer & 91gq SRk 7 qied § 9 HIr

(i) U797 °R GUSl § [ayrfod 3 T B - &, @, T 0 g | 39 JeI-U7 4 Fu #
GEgr 35 8 | @Yt 39T S7fHar &/

(ii) WUE & H Fe7 G&IT1 G 20 7% 37ld TG-IF0T FHR & J97 8, Fe9% 97 1 37 HT
g1/

(iii) @S @ § Jv7 T&IT 21 & 28 TF TTY-IHIT FHR & F97 8, 9% T4 3 3% &I
& | Y% FoT HT I 80 Vel H fkew /

(iv) TWUE T H Y97 G&IT 29 & 34 7% FH-3009 JHR & J97 &, Ycd%h o7 5 3 &
8 | I J97 &7 I 120 iG] 7 ikEw |

(v) YT T F I GEIT 35 HHIET TR & | I8 I 6 31k #7T 8, 71 1% slasrg @
(35(a) — 2 37%) TIT T (35(b) — 4 37%) G 19T & |

(vi) I GIEE 79T fea5ar &4 FEY K G & IYE A HH H IR G
FHifor |/

(vii) Fo7-Y7 § GHF W FIE fadeq 78 & | a9y, $& 3o 4 Jar® fawey 3T 77
g 1 0@ yo7l # @ @aer v F fasew &1 IR ke |

(viii) HIAT F1 377 IT-YI&iHT & qrg Te<fi Hifaw |

(ix) 3HF AN, FETIHATAR, A% GU8 K Jo7 @ I TNIT a9 17T 77 & |

TWUE &

1. ffafed 8 & 68 1871 8 FHR &1 Wem Tyme =ifvq femen o 2 1
(A)  faferam weom
B) faferm fgd

(C) Wetg faegw yom
(D) et faegw agd

2. YA % 3 G TSHiae STeAT 4 AT S1EE INEied o Ufd hIE 3cHTE
w1 T8 femmn 2 ygw wrw fafag | 1
3.  H3U I H Y WRA H Uvglafat sarge 3w § @@ 6 off 2 1

F32/41 § 2



5% www.cbseboardonl%}%com
General Instructions :
Read the following instructions very carefully and strictly follow them :

(1) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(itt) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer ltype questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D — Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi)  Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viit) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Who among the following was proclaimed as the first German Emperor in
18717 1
(A)  William I
(B) William I
(C)  Friedrich Wilhelm [
(D)  Friedrich Wilhelm IV
2. Why were some of the Muslim political organisations in India lukewarm
in their response to the Civil Disobedience Movement ? Give the main
reason. 1
3. Why were manuscripts not widely used in India before the age of print ? 1

F32/4/1} 3 P.T.O.
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4, Who was the author of ‘Hind Swaraj’? 1
OR

Who was the author of the novel ‘Anandmath’? 1

5. Fill in the blank : 1

Young Italy was formed by

6. Vellum’ is 1
(A) Printing on palm leaves
(B)  Printing on paper
(C) A parchment made from the skin of animals
(D)  Printing on cloth

7. Who among the following said that “Printing is the ultimate gift of God

and the greatest one” ? 1
(A) Louis XIV
(B) Abraham Lincoln
(C) Martin Luther
(D) Mahatma Gandhi
8. Fill in the blanks of the following table with suitable information : é+ % =
Resource on the basis of exhaustibility
Resource Examples/Type
(A Solar and Wind energy
(B Mineral and Fossil fuels
F32/4/1} 5 P.T.O.
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9. 3T ggg-uad & A forfae g fowm grag oom & ded IR ¥ e IH
% fora fomam T | 1
arera
30 ggd-ae &1 AW fafige g faem Sreedd owh & §ed YR ¥ b
9T % foru fomam | 1
10. ORI v ot gad Fefofaa da frm o i fom 2 2 1
(A)  wHAlEh
(B) m
(©)
(D) W9§
11. fr=fafea ¥ & g gafea g &1 w=m Hifa 1
(A) A - — T4
(B)  wferETEe sl @H —  TWENY
(C) =5l ardE Sl @I —  siifgam
(D) TEUS AIE 3 hI @H  —  FRES
12. Tk Tomi &1 gfd $ifa - é+§=
e 719 e’ foheT ol €1 bR | elmwTfad hid & -
Th % ¥ H IR gEU FEIH |
13. #fiee § Ffafga § @ 961 sgaes @i 7 ? 1
(A) dHa
(B) @
(C) Tagelt
(D) Hfew
14. G0 61 AT =1 EIAF & ? Teh HRU T8 HIWT | 1
Jrera
TF ARdie ¢ & yured d fafay oo gl o Tl o
JMATTHAT FI1 8 ? g Teh HROT feaflgu | 1

15. sfcssm 1 amgetes gl § efafga d & e g g aei 2 2 1
(A)  fafir g w0zl & 9=
(B) wIed o Tt o7 @ Aex
(C) hrg 3T TS AR o ALY
(D) TSI TR AR AHeE TWhR & e
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9. Name the sea-port that was developed to relieve growing pressure on the
Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
10. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala

(C) Tamil Nadu
(D) Uttar Pradesh

11. Choose the correctly matched pair from the following : 1
(A) Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C) Chandrapur Thermal — Odisha

Power Plant
(D)  Mayurbhanj Iron Ore Mines — Jharkhand

12.  Fill in the blanks : S4o=I
‘Gobar gas plants’ provide twin benefits to the farmers in the form of
and
13. Which of the following is the majority group in Sri Lanka ? 1

(A) Tamils

(B) Christians
(C) Sinhalese
(D)  Muslims

14. Why is power sharing desirable ? Explain one reason. 1
OR
Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1

15. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1
(A)  Different social groups
(B)  Different organs of government
(C) Central and State government
(D) State government and Community government

F32/4/1} 7 P.T.O.
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16. “ard wuw ° Sifa g enft oft yafera & 17 39 mua +E % fou #8
U FETET | 1
Jrera
“qra o il FAE Sifel W@ R i g 17 3w foufd | ges
U1 ST Hehal B ? 1
17. Tr=fafea @ & =& gafeoa faser =1 =@ Hifsw 1
&y | (sgfE # 4917) Ty I (e & &%)
(A)  Toram it et & forw — %M HH % A foT qon sga wegd
shael aut I flt 2
(B) Yt o 79 —  foraml =t 37! 399 % fou somer wme
A
(C) 99T % g fhEm — Tt g

(D) e 9él 1 U smfgardt —  Sfifeeer 3uH i gfd

18.  drfeTent o1 37eqaH hifora qen fr=r few mu wea =61 3o difSie
BTN, A IR f98R % $8 JeHcHs 3ihs

Taa sufeafa srum@
_— fory) gey & uid el ¢ % | (9 100 Sh) I=A
1,000 SARE (2016) (2011) TR (3T 14 Q1 15
Td) 2013 - 14
g 33 82 61
i 10 94 83
forgm 38 62 43
qI
fore T 1 3= T W e ufeafa 1 s a9| w0 g ? 1
19. WRAHE Eifies SH=El 6t 3T 9gH o o =15 T alish gy | 1
20. WA H AT & 3a-1 Hew@qul i 71 @ 8 ? Tg@ R0 I iU | 1
arerat
TSR % Hed § Tifed &meh o yg@ gl i Trse hifu | 1
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16. “Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1
OR
“Sometimes elections are all about caste in India.” How can this situation
be avoided ? 1
17.  Choose the correctly matched option from the following : 1

Column I (Category of Person) Column II (Development Goal)

(A)  Farmers who depend only = —  More days of work and better
on rain for growing crops wages

(B) Landless rural labourers —  Higher support prices for their

crops

(C)  Prosperous farmers from —  Regular wages
Punjab

(D) An Adivasi from Narmada —  To fulfil livelihood
Valley

18. Study the table and answer the question given below :

Some Comparative Data on Haryana, Kerala and Bihar

Tnfant Mortality . Net Attendance Ratio
Literacy Rate % (per 100 persons)
State Rate per 1,000
live births (2016) (2011) Secondary stage (age 14
and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
19. Suggest any one way to increase the income of Indian industrial workers. 1

20. Why is the tertiary sector becoming so important in India ? Explain the

main reason. 1
OR

Explain the main advantage of organised sector in respect of

employment. 1

F32/4/1} 9 P.T.O.
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21. Tr=faRaa sgoor 1 ufer ok sas H= feu T geat +1 3w i 1+1+1=3
| — IO o W
HETeAT el o fomml i TSt 1 sraumon & a1 H wegl i e geE off |
HHH o S TGl < 7T SIS <1 Hao™ T8 o1 foh o 39 AREGamiaEl § ww
T8 -1 Hehd @ TS0 3eh] §¢ i W1 T AT | 39k {70 TS &1 Aadd
o fop o 319 WAl & Gush T U@ | 1859 % IS IAINH Uae o d&d SrTHl
U M U ATl HgU i fsAT goTerd I & STe 9 Sl e TRl B o,
AN T8 ToSid 38 foed € ot Tl oft | S SR e SAidien % Wi A
AT A1 FAR Tl T9H AR hl TTgA hid ol | I8 a1TH B8 fGU
3 3T W ] =9 U | 3! o o1 T o el U9 o1 w1 @ sEfeu o
@ q e # ol e Sl | dfEe 3 s e WA ode e ) el
3 T T gEaT o HRU F Ted H & B © T | 3¢ Yford 7 gehg fomn
R 37h! g e e 53 |
(21.1) 3T8H o ST Aol o6 fIT Catrsr’ <l STaumon =1 w9 T |

(21.2) WRIHI A9gU <l SEE § o19% % €9 H 1859 % $9cis 3HUTH U
! T HIT |
(21.3) TFGH % JESAN AQH § GHA1 T & TE IO 1 T HINT |

22, ] yAmE] o GUF AT fIEET g 9qe MU 9 YR & YaTEl

TR HIT | 1x3=3
ST

ITBNEd] Jaedl & 3T H WA & H9el fia d fivee =i 98 3mE 2 Tuse

FT | 3
23. THS H AT @ IEENd Sedi hl HEl 1 IuH hifT | 3

arerat

e S & T TaneEt i smagEehdr w1 avie HifSy | 3
24, “9Ta ¥ i@ diEEt guenel ¥ g el 8 |7 3eTe |igd s6 hed 6l gfe

FT | 3

F32/4/1 ] 10
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SECTION B
21. Read the extract given below and answer the questions that follows : 1+1+1=3
Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a hink with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

(21.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.

(21.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.

(21.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.

22. Explain the three types of movement or flows identified by the

international economists in the nineteenth century. 1x3=3
OR

Why did textile exports from India not decline in the late eighteenth

century ? Explain. 3
23.  Describe the importance of an equitable distribution of resources in the

society. 3

OR
Describe the need of resources for human survival. 3

24. “Rail transport suffers from certain problems in India.” Support the
statement with examples. 3

F32/4/1} 11 P.T.O.
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25. WG § g 3 TSAT o o= Gl & dean bl frdl 9 fomivarett 1 avla
Fifs | 1x3=3
26. WNa H #fgenet & gfd Sewra & afiel &1 aui Hifsm | 3
Irerat
g WA H W <hl AT iR AMfd Fewdl § ¢ Sgardl Hl JUH
I | 3
27. I AM9A &1 GY® U faeh™ SRR (.81 H.) & ggs fh sman
W fogg o & HUeg § i 8 2 vawe s | 3
28, “orEufed & | HAfienl o WU R HWEEA! hl STETAHhdl 8 |7 38 HUT h
e hIfT | 3
ST
“Crsht gep <l TITafaf@l o1 Y@ IL9T A1Y ARG HET BT 8 |7 39 HYT Hl
oA SHIfAT | 3
QU T
29. UG T Fa A1 & FF 1830 1 9 A F W HfSAgAT iRt AT ? HROT
& T HIfT | 5
PG|

UG € IS TG fohd Yo 9o¥ fovd g &1 R0 &A1 2 ¥ iV | 5
30. ‘arforfsyess H it fomedl afar fasrwarstt w1 favewor Hifvw | Ix5=5
31. QAlhdd H TSHITdh el shl STETIhdT 1 JUM hIT | 5

32. “Tipdifeh sdawdl ToHIfdes THMaT W g Bidl 8 17 IeTewon afga 3|
FHYA 1 gfte il |

33. “TI¥ GEEdl 9g UTHI &= < el S Hfed i H Heg Hid & |7 IgEwn
Hfgd oM i gfte HIfT |

ey

7 |

HYAT

“He1 1 SEHTS BN Qe SfTe o w5 gl fewmn @ 17 3eren |fed wud
gfte SHif |
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25. Describe any three characteristics of distribution of power between the

Centre and States in India. 1x3=3

26. Describe the ways of discrimination faced by women in India. 3
OR

Describe the changes in castes and caste system in modern India. 3

27. On what bases is the criterion used by the United Nations Development
Programme (UNDP) for measuring development different from the one

used by the World Bank ? Explain. 3
28. “There is need for protection and support for the workers in the
unorganised sector.” Evaluate this statement. 3
OR
“Activities in the private sector are guided by the main motive to earn
profit.” Evaluate this statement. 3
SECTION C
29. Why is it said that the 1830s were the years of great hardship in
Europe ? Explain. 5
OR
How did nationalism aligned with imperialism become the cause of the
First World War ? Explain. 5
30. Analyse any five features of Commercial Farming. 1x56=5
31.  Describe the necessity of political parties in democracy. 5
32. “Democracy is based on political equality.” Support the statement with
examples. 5
33. “Self Help Groups (SHGs) are the building blocks of organisation of the
rural poor.” Support the statement with examples. 5
OR
“The use of money spans a very large part of our everyday life.” Support
the statement with examples. 5

F32/4/1} 13 P.T.O.
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34. Tr=fafaa gidl =1 dafen st 39 = feu 70 wei & 3w difm 5

i A - faesht SR iR STart st Tehiehiur

SR o God § g3l 1 Ueh SO 8 gHL SR H SR 8idl 8 | 9o d
FEGN & fashed 5¢ I 2 | 3 A H TS & 9%g  God THATHE gF aal
8 | 319 3 ¥l < IcUTeh Th-gHL H ARl Hie g IR i Teh-gat | wiqeqdt
F R & | 30 TR, faesht saan fafte 2 & arem o1 Sied a1 hier 8§
HEEh Bl 8 |

| B - AyateRtuT

T, daretl, fraw o wenfieht & sifafes fafte 2ot o1 som 4 Sed =&
Teh 3R U1 & dhal g | A8 Wy 2 faftm ow & = o o st |
W S SER AW, Sg USHIR U fien i qomw § ueh qw @ gEl om A
HTETTHA Hd 2 | Tebed, TorTd 5o q@ehi | 3ok Tfdwal o o fafie g3 =
<t &l o srranTE o srfees gfg TE g R |

o C - fava =amum wren
Jafy fova =R @meq @t <t 1 g =R i glawr gar 7, g H9En |
g <@ T & Toh foepfia <u 9 ofgfed @ § SR aeh] Wl s @l
2 | gEdl R, fova =R wwen % femi 3 faewmefia o & =R sEdl &6
EeH o fo7u foawr foben 2 | gk Tk IEEWT HfY I % SR W AdHH
g @ |
(34.1) € A - Taresft =omIR R STIRI 1 TehTeRt

feresf TR ST 1 HE Thiha Htar B ?
(34.2) @A B - dyetentur

Avefieptur hE &l o WRTgl § AHa Tfdafafy o1 facar R @ g 2

(34.3) =mE C - fova =R @wea

“Tva AR T & HET AR fafeRn 4 ooem WEw @ 99 fan
g 1”7 % W 34 fommr wase Hifw |

F32/4/1 ] 14
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34. Read the following sources and answer the questions that follows : 5

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

F32/4/1} 15 P.T.O.
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35. (a) @ TM A B fer T wrm & oo W@r-AEteE (98 19 W) |
3ifera fory w2 | 57 Taml 1 fefafiga ST i gEEa @ wgEh
3 37k TE AW I ere Gt 8 @ett w forfiew 1x2=2

(A) T8 TAW F&1 et 3 9k T arel |
(B) 9% TIM S8 WA TSER g HT AfUaeH g |

(b) 3t €U MU wra & TeEifos W@amfe 6 fefafea 9 8@ Gt e
I ITYH (@l & gy AR 3 AW fafaw Ix4=4
G) @ps — =iy
(i) HEY — TGl I IAN hg
(iii) il — TG IT-
(iv) HeH — Wrel T g1 S
(v) STAE (TS 9El) — =i gars aod
(vi) FEUETG — ATFERR TS ITeh
Te:  FAEfiad 97 Fac giEETaa gt & g ye7 aear 35 & €9 %W
g | fergt & gl & 3 forfe -
(35.1) 39 TAW 1 T foiflgu gt wiefisht 3 F9e Srg aren |
(35.2) T @ 3 M w1 9 faflan ST frami 4 wemrg’ fea |
(35.3) 39 UsF &1 4 Tafige S8t duge afy foom 7 |
(35.4) 38 U= &1 AW Toaflge Fef TRy g o/es &l @ fom € |
(35.5) Hras g8 dol & § "afda Usy & 4 fafEu |
(35.6) 39 U= o1 719 ToiRay S&f gom ofer v soard g9 fra 2
(35.7) 3| UsY 1 AW Toafge &t T @i gar 7o foom 2 |

(35.8) USE @& 39 TIYH k1 49 fdflgu @l gigedn TS ek fBr
2 1x6=6
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : 1x4=4

(1) Hirakud — Dam

(11) Kanpur — Coton Textile Industrial Centre
(111) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(85.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6

F32/4/1} 17 P.T.O.
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Outline Map of India (Political)
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